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Q.1 Objective type Questions 20
A) Choose correct answer from the given alternative. 10

1) For the attainment of a Pareto-efficient simulation in an economy -------------
——————— marginal conditions must be satisfied.
a) Efficiency in Exchange
b) Efficiency of Production
c) Efficiency in the allocation of factors among commodities
d) All the Above
SfegaRTe WRel-Hriem Rigezd Heauamd) ----------------—-—- B
ORI FHTYTT 3101 3fTa=geh 3Tg.
a) Tafma rdema
b) IeUTG BHIUGHT
o TU® ek areuTaES SHrdema
d) o ¥
2) Following is the correct characteristics of public goods.
a) Non-rivalry consumption
b) Excludability
c) Rivalry Consumption
d) None of the Above
qraod Il TG AfReed WSTGTHTO! 3MTed.
a) ol JuHT
b) sfgierdr
o) ufaaeff Iuu
d) TGB! PTEe! ATe!
3) Total economic value = ---------------
a) Use Value
b) Non-use value
c) Use Value + Non-use value
d) Bequest Value

TRUT A G = ---emeomeeeeev
a) dllRHOY
b) T dRSS oI
¢) AR AT + 7 dARGS &I
d) deie gad




b)
Q)
d)

_____________ is not the private cost of education.

Expenses on Book
Expenses on Travelling
Expenses on Dress
Expenses on salary of staff

............. Td g1 Rigroman Wrentt @ g,
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JANTaRI® a6 94

FUSIARIE RS T

HHA T RIS T

6) The slope of the production possibility frontier shows

a)
b)
@)

d)

The marginal rate of substitution between the two goods.

The relative marginal costs of the two goods.

The efficient combination of outputs possible using fixed amounts of
input.

The relative marginal productivities of the two goods.

L [ =1 523 [< 5 G RIS
a) & axudte ufawiroTn Rmid &
b) G axd wue Rmid @d
o) TAfRed gamond siie™ aTgs UeHR Hried JareH
d) &I Ik HT0& S TGl

7) Following is/are the characteristic/s of public goods.

a)
b)
)
d)

a.
b.
C.
d.

Non-rivalry consumption
Non-Excludability
Bothaand b
Excludability

-------- 2/8! WS- g% afreed oMgd.

smfaagef R

TR srggdn
alg! 3f 3T

CIRRG||

8) Which of the following factor is not included while measuring the
environmental value through travel cost method?



a) Travelling Cost

b) Travel Distance

c¢) Travel Time

d) Environmental Cost

Ta T Tgaig UaiaRul J@ar AsTHIY SRl W Te Udh! HIUdT Ucdh
FHITAY BT SiTd ATg1?
a) Ua @d
b) AN 3R
¢) YNl do
d) TRy @
9) SEEA stands as --------========mmmmmmmm e
a) System of Integrated Environmental and Economic Accounting
b) Scheme of Integrated Environmental and Economic Accounting
c) System of Integrated Environmental and Economic Audit
d) System of International Environmental and Economic Accounting

THZZT, (SEEA) TUIS e

a) Ulherd YataRuita Sfor o oaie yuma!

b) TUfhgpd yatavufig o snfie s@ic arer T

) Ulhdpd THiaRUT ATOT ST SwaTasiernT yome!

d) SMARITI GAiaRUg 3Mf0r 3M1fdies Sw@ich Gumst

10) -==--===------ is/are the cultural determinant of Health.

a) Self-determination
b) Freedom from discrimination
c) Protection and promotion of Traditional Knowledge
d) All the Above

______________ % SR Aipfas FeRes oy / 3.
{TEfofa

b) WEHTd TR W=
trwtmw ST TRE(T SATFOT TG efelt
d) R Fd
11) When there are negative externalities, the price should be adjusted so that it is

equal to =========mmmmmmm e .
a) Social Cost
b) Private Cost
c) Zero
d) the number of free riders

SegT AHRIAD STRIdT ST dgT fhHd HRIS B! Ul Suldhe --------
------------------- A 3.

a) TR fhrd

b) @t fabed

C) N QO .
d) HWhd AT A




12) The property value approach seeks to find the relationship between the level

a) Environmental services and the price of the property
b) Environmental degradation and the price of the property
¢) Environmental Cost and the value of the property
d) None of the Above
LIRS | RT3 H ) o) R —— g1 g UIda i die ggdey grafdd.
a) TfaRuig a1 3for AreH fhad
b) UHTEaRUNY BT 3107 AT HT fbHd
) ataRuftg @ 31for AroHr gad
d) TOUD! BIER! ATe!
13) Which of the following gases is the major contributor to global warming?
a) Methane
b) Hydrogen
c) Nitrogen
d) Carbon Dioxide
IEIoUd! ST IgHS B0 aiiTHed it a1e gla?
a) e
b) BagIeH
) IS
d) HIe- ST AHFTSS
14) Social cost of education is sum total of the ------------------- of education.
a) Private and the Student Cost
b) Public and the Institutional Cost
¢) Private and the Institutional Cost
d) Public and the Industrial Cost
I E RS S G TR C i R ——— 2180 THUT SIS 31Te.
a) @Gt Sfor faendf @
b) GIdSHE SO HRIFTA W
¢) et STfor SRITTT W
d) AT o7 St &d
15) Consumption of a pure public good------------------ .
a) depletes the supply of the good for others
b) denies the opportunity to consume the good to others
c) neither depletes the good nor excludes others from consuming it
d) increases the supply of the good

TS AP TN AR - ,
a) SARINTA! a¥a YRAST HH! B

b) SCRIA 9% ATURUYTET Heft AR
) Emwfmﬂwwmm T Yo HI0ATY TSd

o\

d) 9% QRIST dlel

d



16) ~=======mmmmmmm - is/are considered under the Economic aspects of health
system inputs.
a) Financing of Health Care
b) Human Resources for Health
¢) Public and Private Mix
d) All the Above
-------------------- 19/ TS SR G0 e arell il qHIay &

forTqRaaT
b) SRIYTS! AT JETe
¢) HTdGl-Tep SfOT WTeRT sy
d) 38® ad
17) Which of the following energy can be used to generate electricity?
a) Solar energy
b) Wind energy
c) Petroleum
d) Natural gas

WTOTEUD! BT Sroll diof AT ATURGT SIS, 22
a) AR St
b) Tad el
C) a@ﬁmﬂ
d) "9 arg
18) A road is
a) Engine
b) Investment

c) Private Good
d) Public Good

19) The type of equilibrium that deals with the determination of price and
quantity of only in one market is known as
General Equilibrium
Partial Equilibrium
Zero Equilibrium
Pareto Efficiency
U@ UHR Sl dacs Tehl dTeIRTd fdhdd SM1for ymor fAfRed wruarzit deferd
MBS HUH WS o,
A JHAS
3fif1ep THAI®
3 JHAIS




el Srdeddr

20) shows the maximum possible output combinations of two goods
or services an economy can achieve when all resources are fully and efficiently
employed.

a) Production Possibility Curve

b) Social Welfare Function

c) Pareto Optimality

d) All of these
SIegT ¥d A= ot Siflr SRigmaur FEiford eer g avq fdvar dait
SR aH HUTH IcTG AT HTthd GRAfde STd.

a) 3dlca AR deh

b) TS HRATI BT

) UReI ugigd

d) 849d

21) The resources that can be replaced by natural ecological cycle is called

a) Renewable
b) Nonrenewable
c) Exhaustible
d) Natural
T ST AT TaiaRond Ihlgk dGodl dd il U,
a) “IdHIDhRUIEH
b) Sf-IdHIBIUEGH
) HYSTd AUGTSIN
d)
22)In general equilibrium .
a) The value of excess demand must sum to zero
b) The Walrasian equilibrium is always unique
c) The First Theorem of Welfare Economics implies full competition.
d) A tax will always improve the welfare
I A A8 :
a) Sffafad grTuid god 3T ST 39z 3HTe
b) TTSIRTT THAS g fgi oifg
¢) HRABR! IR fgd THT Torer guf Wef
d) DR gl HGATU q& dT6 Hd
23) monetizes the loss of biodiversity, and accounts for costs caused
by climate change.
a) Blue GDP
b) Green GDP
¢) Red GDP
d) Pink GDP
SR Safafaede I, ST aTdTaRuNdo Seones ol Fard
"7 T ISTHTY 6.




a) e Sitsidt
b) Rd St
) BG Siterdl
d) TeTel Serdt

24) Which of the following gases is the major contributor to global warming?
a) Methane
b) Hydrogen
c) Nitrogen
d) Carbon Dioxide

TEIoUD! ST ITgHS B0 aiiTHed Hid! d1g gla?

a)
b) BHAGISH
) SIS
d) HIe- S A FISS

25) In contrast to private goods, public goods are
a) Cheap
b) Divisible
c) Highly Valued
d) Indivisible

WIS G go-d , ol aed__ 3Ted

a) WX
b) favrs
) AAd BIdH
d) sffaursd

26) A forest is
a) Private Goods
b) Public Goods
c) Reserve
d) None of these

27)Contingent Valuation Method is the only direct method that can be applied
for determining values.
a) User Value
b) Non-user value
c¢) Both User and Non-user value
d) None of these
3TH S JOTAUA UGd 51 ThHd Y& Ugd 3118 Sil ool
BT H3! B3> b,

a)



b) ITINTHA! IS @]
0 SYANTEHA! 0T SUANTHA! IS ST ol
d) I HIie! el

28) Negative externalities affect market efficiency in a manner similar to

a) An excludable good
b) A private good
c) A common resource
d) A public good
ABHRIAD SIRI] AT STSIRIA TG BTAEHAER RO HRaTd.

a) oIeSdl 7 YUIRY 9%
b) WIS T,
) TP JHT G
d) TSI g%
29) Productivity approach of valuing environmental benefits is consists under the
approach.
a) Conventional Market Approach
b) Hedonic Approach
¢) Cost Based Methods
d) All of these
AR TElie H@OHTI HRUAMNIS! SdTGhal evh-er
eRdIreidTd gaifay g,
a) URUINSG STeRUS =¥
b) &SI EBHH
c) TR MR Tt
d) Rio Id
30) Replacement Cost Approach, Relocation Cost Approach and Opportunity Cost
Approach are the
a) Cost Based Methods
b) Conventional Market Approach
c) Hedonic Approach
d) None of these

TR G, G-I T 317 et @ esie g 3{Ted.

a) T ST TGt
b) URUIR® STeIR TSIhI
) BSID e¥IhH
d) TTUD! BETR! ATGT
31) is/are the fiscal techniques for the control of activities that
damage the environment.
a) Subsidies
b) Refundable Deposits




¢) Pollution Permits
d) All of these
&l gaferUTeT g Ulgraaun=l fbardb et feaomand! faxig d
3{Tedl.
a) st
b) TRd HRUIAIY it
¢) UguUl RAIT
d) RIS Fd
32) theory is related to non-renewable resources.
a) Game Theory
b) Phlogiston Theory
c) Big Bang Theory
d) Hotelling's Theory
RIGid ITAehRUTEH HRUIRING TR Heifed e
a) We Rrgid
b) TR R
o) fomr o R
d) giefomdt Rgha
33) The Coase theorem asserts that
a) Environmental problems arise from state failure to eliminate market
imperfections.
b) If property rights are defined clearly, markets will produce efficient

outcomes.
c) Transactions costs associated with environment problems are
negligible.
d) All of these
DI THY gfduTe .

a) SSRGS SYUIdT g HRUATA IoaTed SRS TITaRui Tl

Jaaddld.
b) SR ATGHWD ISR WY gRUIfd & 1, IR SNRUST Hrie™
GO Gelle.
) TATaRUI GHIRT Haftid STagR Td T10Y 3Mlgd.
d) gId
34) Property value approach and wage differential approach are examples of
approach.
a) Surrogate Market
b) Travel Cost Method
c¢) Conventional Market
d) Cost Based Method
ST 7@ eBHI 1101 3 favaew eiei gt GREIRICIREHARRI
3{Ted.
a) RN TR

b) U W Ugd




¢) URUING S6R
d) & 3nutid ugd

B) Answer in one or two sentence. (2 marks each) 10

1) What is mean by Welfare Economics?
HRATTHR] 372 U BT

2) Define: Bequest Value.
IRYTIT &I dehie Bag,

3) Write any one example of Hedonic Pricing Method.
oI fhHd UGddl HIUdg! U IGTeUI fovgl.

4) State full form of SEEA.
TOU.E3.0.9 QU &Y 9.

5) Write full form of NRHM.
TH.3R.T9.0H. a1 9l faar foe.

6) What is the term externality?
Sfgiddl WU H1a?

7) What do you understand the general equilibrium analysis?
Y JHAS faRSYUT IS BTa?

8) Write any one example of Existence Value.
3T & AT DIUIds! Iarexul gl

9) Write any two features of the private good.
GTol I BVl G e fogT.

10) What do you mean by option value?
qafg g@arn 3 ST 3MTg?

11) What do you understand by green GDP?

gikd oft. St . et ®rae

12) Write any one example of Hedonic Pricing Method.

gSIM® fhHd UGl ®Ivida! Tdh 318 vl foral.

13) Write the name of any two social benefits of education.
FT&fOTT=aT PIUTATE! G WTHITSI® el ATd g,

14) Write any one example of Conventional Market Approach.
URUIRS SR TP ITd HIvide! T IaTevl fogl.

15) Give full form of IEEA.
3M1s. 3. 3. T 3 quf &g i,

16) What is meant by Internal Efficiency of Education?
Rrgromrean iqrid srierd 31 1Y 3Me?

17) Write any one Pareto welfare optimality condition.
DIUdal T UREl- S0l 3¥ay fRuqt fogn

18) Define: Use Value
RUTTT BRI IR &4

19) What do you understand by Collective Action?
A8 P Poil TS HI?

10



20) What is Exhaustible Resources?
YT JUIRY 1 TS H1?
21)What is mean by Wage Differential Approach?

3 faugsd THID I WU H1a?

22) Write any one direct benefit of Education.

fRrefomrn PIvrdTe! T de Braer fogr.

23) Define: Environmental Accounting.
TR AR T,

24) State any one source of Financing of Health.
RIS [aTYRAST HRUITET HI0IdTs! Ueb Hidl .

25) Give any two Social Determinants of Health.

R SV G ATHTSIG e .

Q.2 & 3 Broad Answer Type Questions 40

1)

2)

3)

4)

5)

6)

7)

8)

9)

Discuss in brief the externalities in consumption and externalities in
production.

JcTG dfgeiadt MOT SUHRT afgTiadr UraR HiaweR dai B,

Explain the merits and demerits of various direct techniques of
environmental valuation.

qafaRua gaie-re fafay uaer daid Tored Mo gy are fazewor .
What are the objectives of the environmental policy? Explain the
approaches towards the environmental policy in India.

qofaRuity SRun= IfeP P ed? HRAT S UaiaRufi SRoman
ECARIEACERR R

What are the determinants of health? Explain the present status of health
care in India.

SR FYR® U ST 3Med? HRAKITG SR Had! qeare! Ry Ty
DPRI.

Explain the difference between negative and positive externalities.
THRIAD A0 YHRIHD STRIdc® B WY D],

What are the causes of environmental degradation in India? Overview the
strategy adopted by India to control pollution.

HRAT® TAaRUT 81 GI0aTH 1RO DIV STed? TGN =01 SRt
HRAM WIHRGS! YR AT,

Describe the Coase's theorem of property rights.

HIGH SHIUDBRIAT DT AT quiH B,

Discuss in brief the Partial and General Equilibrium Analysis.

3T SHFO1 Ty FHAS fazewUT Uree™Td =t o,

Examine the various direct techniques of environmental valuation.

yafervita godie-ren fafdy uaer d=id usteror &,

10) Discuss in brief the cost-benefit analysis of education.

11



YreoTd R T< 9 BT Az wur &I,

11) What are the economic dimensions of the health? Explain the present
status of health care in India.
SIRIATE T URHTO HIVIT STEd? HRATAIG SR Had! qeare Ryt
Y d.

12) Discuss in brief the externalities in consumption and externalities in
production.
ITe SgTidd! T SUHNT ST JraR AawR adl BT .

13) Analyze the various cost associated with Travel Cost Method of
Environmental Valuation.

qateRUiT G@aid-TaTe! Yo TareT UGzl Saidd fafqy S fazowor
H.

14) What are the objectives of the environmental policy? Explain the
approaches towards the environmental policy in India.
TIiaRUNY RN TGP PIvKh sgd? URdTdie yafarufig gRumn
TSB! Tl I,

15) Discuss in brief the health system model.
SR YUITS 1T ATS o s USaTd T .

16) Write a brief note on "Education as an instrument for economic growth”.
"R1gur g ffdep aretd wreH A fawarar ues dféd feuor foar.

17) Explain in detail the Pareto Welfare Optimality Conditions.

18) Describe the various approaches under Cost Based Methods of valuing
environmental benefits.
TIfeRUT BT HeaHTO- SO GaiaR TR Tgaien 3favid
3rguTT=aT fafdy eStep I qui &,

19) Discuss in detail about the concept of environmentally corrected GDP and
NDP.
qfaRurEseaT guTiRd ot 81Ut 3T TSl i, a1 Yheuagd quRiadR adi
PR

20) Review the demand and supply of health care in India.

URATATE HRIY Yol GETOT 31107 GRAST Gl SHTeTal <.

Q.4 Write short notes on any four of the following. 20

1)
2)
3)
4)

5)

Compensation criteria of Hicks

feerael WRuTs Ay

Social Welfare Function

IS SR BT

Travel Cost Method

A T Ugd

Measurement of Environmentally Corrected GDP

qafaRur GG Sierdtd JieHT

Financing of Education

12



RRigromn faagiasT

6) Production Possibility Curve
Sl YR deh

7) Environmental Accounting
BRI CRURCRGI eI KCl|

8) Measurement of Environmentally Corrected GDP
qafaRor G Sierdd Ao

9) Externalities in Production
JATCATdIS STerdl

10) Delphi Technique

T}

11) Renewable Resources
TR ARG T

12) Green National Accounting
gRd WP Sw@ich

13) Social Determinants of Health
IR TS FeRe

14) Positive externalities
HHRIHD dlgddl

15) Vicarious Value
fab o gag

16) Preventative expenditure approach
PIRCICCRCE B AT

17) Polluter Pays Principle
UG ¢

18) Economic aspects of health system inputs
3R FAr=AT 31 UG

19) Private Costs of Education

fRreroma @rontt W<

20) Negative externalities
AP RIHD digldl

21) Externalities and market inefficiency
STRICT SHATIOT STSTRTE SfbTA&Tal

22) Trade off Games Method
MR §¢ WS Tid

23) Contingent Valuation Method
3{Teh Db JEIHI Ugd

24) Importance of Environmental Policy
TTaRUT YRUM Hew™

25) Environmental Problems

TTaRUTY =T
26) Supply of education

1&g QRaar

13



27)Social benefits of Education
Riemma grfoie wrie

28) Ecological Determinants of Health
IR qafaRuiT FuRe

29) Demand of Health Care
3R o AATOR

30) Commercial Determinants of Health

IR ATagiRe AuRe
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